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A& o & AHE 8 Al A
20289 E 204 sSHAZEMLSES
& 200 Mol
2 210 3AEMLI-L
sh 211 At == (et &)
-85 Ol &k ot & G 0ff &bY Hns2
S Al 1,058,641 1,111,414 AB2,773
200 A2l 237,800 149,800 88,000
210 BT 2= 227,000 139,000 88,000
211 Hatgti= 20,000 16,000 4,000
21102 SRMALU= 20,000 16,000 4,000
< ZHOHXI2 > 20,000 16,000 4,000
OYEML SHAL JIX= U= 3,000,000& 14 3,000
OEEHELE2 SUR 17,000,000 x 14! 17,000
212 Mee=g 204,000 120,000 84,000
212-09 DIEIAEE 204,000 120,000 84,000
< ZHIOIH X2 > 204,000 120,000 84,000
OsZH1 H==XM2E 23| RE3
17,000,000 122 204,000
216 Ol At==g 3,000 3,000 0
216-01 S30301 X+ 3,000 3,000 0
< ZHIoIH X2 > 3,000 3,000 0
os30= Olk==g 3,000,000& « 14 3,000
220 SAIEA 2= 10,800 10,800 0
224 J|Et=E 10,800 10,800 0
224-07 12|+ 10,800 10,800 0
< ZRHIoIH X2 > 10,800 10,800 0
Os3HAl H=S2HclE AL HEs
900,000& * 122 10,800
700 2EH-LSAUHEAHN 820,841 961,614 A140,773
710 284S 290,991 220,000 70,991
11 0= 290,991 220,000 70,991
71101 =MAHL A= 290,991 220,000 70,991
< ZHIOIH X2 > 290,991 220,000 70,991
O=MALNH= 290,991,000 * 141 290,991
720 LIS HeH 529,850 741,614 N211,764
21 dY= 529,850 741,614 A211,764
721-03 JIEI2I AN L 3 529,850 741,614 211,764
< ZHIoH X > 529,850 741,614 A211,764
OgLts| A M3 529,850,000& * 14! 529,850
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Ab & E Al

A

A BN X
I SBCL T4 Y SH(REUXISHL/NSET)
©9 STONTH ¥ SANA(SRUXELAIISSHS]H) (ch9):291)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
2RI X2 1,058,641 1,111,414 AB2,773
SECA X4 Y S (Z2EL XN /AA ) 1,058,641 1,111,414 AB2,773
SEHAESY Y SN (SBHAUEZLSAILSEIAH) 1,058,641 1,111,414 AB2,773
SSHA H=3Y HelAld B 121,000 131,000 210,000
201 YB-2AH| 25,000 5,000 20,000
01 AFR222l8I 25,000 5,000 20,000
O AAZAIMA(TMS) BEBA =2
5,000,000 =14 5,000
QLZAAZAIMAH(TMS) £E L ADE Q!
20,000,000 & * 14! 20,000
401 AlIE2H|ILE20HH] 96,000 126,000 30,000
|&H| 96,000 126,000 /30,000
QFZAALAIMAH(TMS) HEBAF 24
22,000,000& * 14! 22,000
O22H=HelAld =Al B
50,000,000 *14] 50,000
Q2ZAALAIMAH(TMS) RX22SH
2,000,000& =122 24,000
S2CHX JIBIAIE X122 50,000 100,000 A50,000
401 AlIEHIZL20HH] 50,000 100,000 A50,000
01 Al&HI 50,000 100,000 A50,000
O=s3HAl J|BAIE |X|22]
50,000,000& 14| 50,000
SSHX HE=ZFLXZIAIE /E2H 867,641 870,264 N2,623
201 Lt AH| 168,000 168,000 0
2 324l 168,000 168,000 0
OsSHX2IAE 29 S322
14,000,000« 12& 168,000
307 2I12+H0|M 699,641 702,264 2,623
05 QI2HREZ 699,641 702,264 N2,623
O=s3aHA S3H=X2AE fIE2d
,303,410& 128 699,641
S2CA AE2Y 10,000 10,150 A 150
201 Lt AH| 8,000 7,000 1,000
01 AF222|H| 8,000 7,000 1,000
Os3HAl Ald 28 ¥ A2E 7Y
3,000,000 *14] 3,000
O=ZRANLUZ(ETRRNAES)
2,000,000& * 14! 2,000
O=s3HA ME&Y EH| Xt
3,000,000& * 14 3,000
202 04H] 2,000 3,150 A1,150
01 2LHoL] 2,000 3,150 A1,150
Os=ssHAl RFX |
100,000 x2H % 103] 2,000

-820-




2A: ZHO0U X 2

ZM: STCL T4 U SY(IEUK AN/ NSET)

O S2RHITE 2 S2AX(S 2SR EZLAAIGELESIH) (&9 &)
DA EH B (BH) - MRAY - BAS Ofl Ao ﬁlﬁg HDS2
SZ2H=HelAlE ArHOtM B4 22| 10,000 0 10,000

401 AIEHIZ 24| 5,000 0 5,000
01 Al&H| 5,000 0 5,000
S2HEX2IAIE 23 AR AIA M|
5,000,000 =14 5,000
405 KHaEEISHI 5,000 0 5,000
01 AL Z2EFSHI 5,000 0 5,000
OMHONEE 7] 5,000,000 *14! 5,000
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